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QUESTION 1

What is the proper calculation used to determine the bandwidth requirement for vSphere Replication?
A. VMs datastore size divided by the link speed

B. Peak data change rate within a Recovery Point Objective (RPO) period divided by the link speed

C. VMs datastore size divided by recovery time objective (RTO)

D. Average data change rate within a Recovery Point Objective (RPO) period divided by the link speed
Correct Answer: D

To determine the bandwidth that vSphere Replication requires to replicate virtual machines efficiently, you calculate the
average data change rate within an RPO period divided by the link speed.

Reference: https://docs.vmware.com/en/vSphere-
Replication/6.0/com.vmware.vsphere.replicationadmin.doc/GUID-4A34D0C9-8CC1-46C4-96FF-3BF7583D3C4F.html

QUESTION 2

Which VM configuration is compatible with DRaaS for VMware Cloud on AWS?
A. VM running vSphere Fault Tolerance

B. VM with physical RDM

C. VM with VMware DirectPath I/O

D. VM with 16 vCPUs

Correct Answer: A

QUESTION 3

What are two requirements for using the bulk migration feature of HCX for virtual machines migrating into VMware
Cloud on AWS? (Choose two.)

A. No mounted CD Drives

B. Virtual RDMs

C. NSX for vSphere

D. Virtual Hardware 7 and above
E. Physical RDMs

Correct Answer: AD
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Reference: https://docs.vmware.com/en/VMware-HCX/services/hcx-user-guide.pdf

QUESTION 4

What are the two primary deliverables of a Hybrid Cloud Readiness Assessment? (Choose two.)
A. Gap Analysis Excel document

B. Migration Plan Excel document

C. Gap Analysis Word document

D. Networking Topology Visio document

E. On-boarding Process Word document

Correct Answer: AB

Reference: https://www.bconn.nl/hybrid-cloud-readiness-assessment-white-paper/

QUESTION 5

What are three primary use cases for HCX with VMware Cloud on AWS? (Choose three.)
A. Bulk migration

B. Layer 2 extension

C. Container orchestration

D. Operating system upgrades

E. Replication-Assisted vMotion

F. OVF deployment

Correct Answer: ABE

Reference: https://aws.amazon.com/blogs/apn/migrating-workloads-to-vmware-cloud-on-aws-with-hybridcloud-
extension-hcx/
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